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AL LIESKEMENTIN

Evit kregin gantfi

e Dalc'h son;j :
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6x5 6x(3+2) (6 x3) +(6x2)
=30 =6x5=30 =18+ 12=30

« Jed evel ar skouer : (Diwall ar c’hromellou 1)
4x8=4x(4+4)=(4x4)+(4x4)=16+16=232
4x8=4x(5+3)=(4x5)+(4x3)=20+12=32

5X6=5x(3+3)=(6x.)+(.x3)=15+ .= .
3x7=3x(4+3)=383x.)+(.x.)=..+._..=_.
5x9=5x(5+4)=(.x. )+ (. x. )=+ .= .
AX7 =4X(4+3)= = . t+..=_.
6XT10=6X(8+2)= ST = ..
BXE5=8X(2+3)= ST = ..
« Sell mat ha kloka an taolennou dindan :
4 |7 | 3|9 2 |5 6 N X 2
XQ@ 8 14| | | . 16 209
2 | 8 |7 |3 | .. 6 | . 20 | 50 ?)(3
X3§ 6 |24 | 15| 30 | | ..
10, 5§ | 8| 4 | . 121 . 50 | 100 ?XS
X5@ 50 |25 | | .. 45 | . 100 | |
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